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Copy and complete each problem below. Set your working out clearly as you have been shown.
Round to 2 d.p.

[1] 694 =9 = 2] 789 + 4 = [3] 842 +3 =
4] 420 + 3 = [5] 479 + 5 = [6] 504 + 3 =
(7] 551 +6 = [8] 582 + 3 = 9] 677 + 3 =
[10] 522 + 11 = [11] 583 + 5 = [12] 670 + 6 =
[13] 374 + 7 = [14] 482 + 6 = [15] 547 + 6 =

[16] 734 + 3 = [17] 810 + 4 = [18] 863 + 6 =



ANSWERS
Division

Copy and complete each problem below. Set your working out clearly as you have been shown.

Round to 2 d.p.

[1] 694 + 9 =
[4] 420+ 3 =
[7] 551 +6 =
[10] 522 + 11
[13] 374 + 7 =
[16] 734 + 3 =

77.11

140.00

91.83

47.45

53.43

244.67

[2] 789 + 4
[5] 479 + 5
[8] 582 + 3
[11] 583 + 5
[14] 482 + 6
[17] 810 + 4

197.25

95.80

194.00

116.60

80.33

202.50

[3] 842 +3

[6] 504

[9] 677

[12] 670

[15] 547

[18] 863

280.67

168.00

225.67

111.67

91.17

143.83



